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QUESTION 1

Jonathan is creating an XML document and needs to sign data streams. In his code, Jonathan creates a signature node
that is contained within the signed datastream. What type of signature signing has Jonathan employed here? 

A. Enveloping 

B. Attached 

C. Detached 

D. Enveloped 

Correct Answer: D 

 

 

QUESTION 2

What compression library is used by wiretap, the packet analyzer reader for Wireshark? 

A. wtapbil 

B. pclib 

C. winrar 

D. zllib 

Correct Answer: D 

 

QUESTION 3

What programming threat model with six categories includes repudiation, spoofing identity, information disclosure and
so on? 

A. GUID threat model 

B. STRIDE threat model 

C. EUID threat model 

D. GUILDE threat model 

Correct Answer: B 

 

QUESTION 4

Neil is almost finished developing a Web-based inventorytracking application for a company he is working for under
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contract. Neil finds out that the company wants to pay him half of what they had agreed upon so he is very angry. Neil 

decides to insert the following code into his application. 

What is Neil trying to create here? 

#include  

#include  

int main(int argc, char *argv[]) 

{ 

char buffer[10]; 

if (argc 

{ 

fprintf(stderr, "USAGE: %s 

string\n", argv[0]); 

return 1; 

} 

strcpy(buffer, argv[1]); 

return 0; 

} 

A. UML malformed string 

B. Format string bug 

C. Buffer underflow 

D. Buffer overflow 

Correct Answer: D 

 

QUESTION 5

Kevin wants to use an SSL certificate from his Mac OS X server so that he can send and receive encrypted email. What
would Kevin accomplish by typing in the following command? certtool c k=/Users/root/Library/Keychains/certkc 

A. Remove any unnecessary permissions on the file "certkc" 

B. Create keychain called "certkc" 

C. Copy the root certificate of the server to the file "certkc" 
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D. Import encryption key into the file "certkc" 

Correct Answer: B 

 

QUESTION 6

Mathew is working on a Fedora machine and is having issues with some shellcode he wrote that is producing errors.
Mathew decides to download and use Ktrace to debug the shellcode to see where the errors are originating from. 

Why will his plan not work? 

A. Ktrace cannot debug errors, it only notifies of successful calls 

B. Ktrace only works on Windows platforms 

C. Ktrace cannot debug shellcode 

D. Ktrace only works on *BSD platforms 

Correct Answer: D 

 

 

QUESTION 7

Malory is creating a webpage in PHP where users will have to logon to gain access to certain areas of the site. Malory is
concerned that malicious users might try to exploit her site, so she decides to use the following code to prevent some 

attacks. 

What is Malory trying to prevent here? 

$username = addslashes($_POST["username"]); 

$password = addslashes($_POST["password"]); 

A. SQL injection 

B. CSS attack 

C. Reflected mode XSS attack 

D. CSRF attack 

Correct Answer: A 

 

 

QUESTION 8

What will the following command accomplish? c:\signtool12winnt\signtool -L -d a:\tmpcert:a:\cert 

Latest 312-92 Dumps | 312-92 PDF Dumps | 312-92 VCE Dumps                                4 / 8

https://www.pass4itsure.com/312-92.html
https://www.pass4itsure.com/312-92.html
https://www.pass4itsure.com/312-92.html


https://www.pass4itsure.com/312-92.html
2024 Latest pass4itsure 312-92 PDF and VCE dumps Download

A. Save certificate to a temporary archive directory 

B. Sign Java applet 

C. Verify archive 

D. Determine certificate nickname 

Correct Answer: D 

 

QUESTION 9

Jay is using the EnTrial Key Generator software to create software keys for the programs he has created. To create the
unlock key in the software, what two inputs must Jay use? 

A. Vector markup ID 

B. Personal ID 

C. GUID 

D. Generated code 

Correct Answer: BD 

 

QUESTION 10

Paul wants to capture audit information on PLSQL so he executes the following command: 

sqlplus "sys / as sysdba" 

Enter password: password123!!!! 

SQL> ALTER SYSTEM SET AUDIT_TRAIL = OS 

SCOPE=SPFILE; 

SQL> SHUTDOWN NORMAL; 

SQL> STARTUP; 

What privileges has Paul logged on with? 

A. ADMIN 

B. Root 

C. SYSDBA 

D. SYS 

Correct Answer: C 
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QUESTION 11

What would be the output of the following script? 

import java.net*; 

public class ExampleByName { 

public static void main(String[] args) { 

try 

{ 

InetAddress.getByName(www.microsoft.com"); 

System.out.println(address); 

} 

catch (UnKnownHostException e) { 

System.out.println("Could not find www.microsoft.com") 

} 

} 

A. IP address of www.microsoft.com 

B. Hexadecimal equivalent for www.microsoft.com 

C. Tracert information to the www.microsoft.com 

D. Whois information for www.microsoft.com 

Correct Answer: A 

 

QUESTION 12

What will the following ASP script accomplish on a webpage? 

 

A. Redirect users to the logon page if they do not have a valid certificate 

B. Logged on users will timeout after hour 

C. Checks whether user has already logged on 

D. Checks the user\\'s cache for personal information 

Correct Answer: C 
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QUESTION 13

George is writing an application in Java and is using DES in the code to implement the encryption and decryption of
data that will be passed. In the following code snippet, what will be accomplished? 

FileOutputStream out = newFileOutputStream 

(f); 

out.write(rawkey); 

A. Convert the secret key to an array of bytes 

B. Generate a secret TripleDES encryption key 

C. Writes the raw key to a file 

D. Send the raw key to a decryption output array 

Correct Answer: C 

 

QUESTION 14

Although software companies despise software piracy, they often realize that illegal release of their product parallel to
the legal release can actually increase the item\\'s user base. These illegal versions of the software can oftentimes
increase actual legal buyers. 

What is this process called where illegal copies are released to the public along with the legal versions? 

A. Shadow diffusion 

B. Brigand diffusion 

C. Sideline diffusion 

D. Backdoor diffusion 

Correct Answer: A 

 

 

QUESTION 15

Clay is a SQL dba working for Integrated Solutions Inc., a graphics design company in Miami. Clay administers 10 SQL
servers at the company\\'s headquarters. Clay wants to ensure that all SQL traffic stays within the internal network and
no SQL traffic from the outside can get into the internal network. 

What ports should Clay tell the network team to close off at the firewall to disallow all incoming and outgoing SQL
traffic? 

A. 1499 
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B. 1433 

C. 389 

D. 1434 

Correct Answer: BD 
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